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Topic:- Child Development & Pedagogy (CDP)

1) _  are the self-fulfilment needs according to Maslow’s Hierarchy of needs. /mmmmw% SR -
gfd &Y srazgeang g

1. Self-actualization / 3T&-fa=ersor

2. Physiological needs / fohaTe® azadmdr

3. Belongingness and love needs | fayra 3R TR &Y Tl

4. Esteem needs /EIECTW

Correct Answer :-

« Self-actualization / 3TH-fazdwor

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & IR, 3¢ RIsid W Aficd BT S T YR Jferd giar 82
1. Ego ideal / 378 SMa® (M 3MESa)

2. Superego / TRTE (JIRE)

3.1d / UEEH (3ME8))

4. Bgo / 318 (37

Correct Answer :-

. 1d/ g9 (378N

3) What is the time in a child’s life between childhood and adulthood known as? / STCOTIRIT 3R TUEHT & oI waﬁ FoftgT &
DI AT TG FIAT ]2

1. Adolescence / THRIRTGR
2. Menarche / TS aRMH

3. Middle childhood / ¥ STcdTaRIT
4. Puberty /e

Correct Answer :-

« Adolescence / fhIRTER

4) What is the term given to describe the sudden ‘aha!’ moment that sometimes helps us solve problems? / 3[T-P “3{gI!” &UT P1quiq

P & fg 1 1 ug faar man 3, S sl 5 wuwnel 31 g9 w3 | Hag dRar a2
1. Flashbulb / Ui §ea

2. Insight / 3ITEMD

3. Observation / 3faelie

4. Deduction / GRUIH

Correct Answer :-

o Insight/ &l?l_?ﬂ:g

5) What is the term given to denote the ability of a test to consistently measure what it is designed to measure? / Tt T dteror 1 grear

P! AT $37 & g #1991 g faar mar 8, R srgeuar @ 9= & fore 59 fawrs= fear man @2



1. Norms / A¢S

2. Reliability / fasg=aar
3. Reasoning / qb

4. Validity / 3T

Correct Answer :-

« Reliability / fayg-ftaar

6) Benefits of Inclusive Education are: / THTALI QT&I'I' A %
1. Develops moral and ethical principles only / Fad Afde 3R Hifamrd Rigid faeRid &

2. Increases communication and social skills only / ddl IR 3R T WW

3. Increases acceptance and appreciation of diversity only / FHad ﬁﬁwaﬁ&ﬁ?ﬁl 3R =T delHl
4. All of the above / G‘E@Tﬁ qft

Correct Answer :-

o All of the above / G‘E@Tﬁ qft

7) The urge to provide care and protection to offspring is motive. / HATI Pt G@UTA MR & e A BT 3Ie
fpRom 1

1. Sex /T
2. Maternal motive / HIG TR
3. Achievement / SUTTSI

4, Affiliation / JEYT

Correct Answer :-
« Maternal motive / HIq TR

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? /Qﬁﬂ'\"ﬂ' F AN AP & S
& Ror § yfaaifrar Hraen faw R gt 82

1. Trust vs. mistrust / [O4TT &7 SHfaym

2. Intimacy vs. isolation / ﬂﬁ'g?ﬂ I41H HAId

3. Ego integrity vs. despair / 318 31&Sdl A TR
4. Industry vs. inferiority / ey S g

Correct Answer :-

« Industry vs. inferiority / IR §9TH g

9) Which of the following strategies cannot be used by a teacher for a mentally retarded learner? / FReqe gRT AARI® TU A He

Rrendf @) & foe Fafafea 3 9 fra sri-fAfa o1 w98 e s awar g2

1. Breaking smaller tasks into large steps. / B¢ e Bl ¥ g8 B § U BT

2. Presenting the information to learner using visual aids. / TXT TEH %7 ITANT R RI&Mf (@) B THHR URga BTl
3. Involving the learner in group activities. / THg Tfafafiat & Rremdf (E'Ff?) B 2 HRAT

4. Providing the learner with immediate feedback. / et @Fﬁ) $I dbTa Ufafehdl UGH &1

Correct Answer :-

« Breaking smaller tasks into large steps. / B HisH Hraf A a:% B § fuifor s

10) According to Good and Power, which category of students are more likely to engage in outbound activities? / GWI% 3R qaear & IR, BEl Pt
fra Aoft § ssearss nfafafim & dew 819 @5t aiftres Suram 82



1. Social / TS
2. Phantom / e H
3. Successful / FhAdl

4. Dependent / AR

Correct Answer :-

« Social / ATAIIG

11) Specialized teaching strategy geared toward supporting student’s learning is ./ BEAS @A T I B F fere TR fafkre Rregor
o |

1. Writing / TG
2. Scaffolding | I

3. Reading / UT&

4. Brainstorming / faaR-Ty=

Correct Answer :-

« Scaffolding / ShWIET

12) Which of the following is not one of the main method of deriving traits? / Frafifaa & & a1 d&vr yre w3 $t g R A J T e R?
1. Hypothetical / UTdh cUATHD

2. Lexical / Mfeqd

3. Statistical / FiRE®HT

4. Theoretical / Jifd®

Correct Answer :-

« Hypothetical / UTdh cUTHD

13) Which of the following is true about modern evaluation? / arrgﬁm? D FIR A PRI s T adi 82
1. Summative evaluation / mw

2. Continuous evaluation / Fdd eI

3. Product orientation / ITTE SHBIHIU

4. Rote learning / XCHR TG

Correct Answer :-
« Continuous evaluation / Jed Hedih

14) Which among the following is NOT the focus in planning and delivering a developmental, comprehensive guidance and counseling program? /

Frafafea & & w1 faem, e anfeRi= iR Wit sriwa 3t giemr a9 ok faaia o & wm ik T srarg?
1. Financial / fa=iTa

2. Personal / SR

3. Social / HTHTISR

4. Academic & career / Q& 3R HRAR

Correct Answer :-

« Financial / o<t

15) Who elaborated an enormously complex notion of natural development under a thinly disguised divinity? / fram T A voT Regar &

qed WP s 31 UF AUS Sfed YRUN i fawga fHar
1. Baldwin / STeg o
2. Erikson/gﬁ_d'\q:f



3. Piaget/ [ERIE]
4. Vygotsky / Wﬂw‘?

Correct Answer :-

« Baldwin / STeg o

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: /ﬁ?m:[ an‘éaqﬁmw ﬁmmﬁqﬁqﬂ%
1.1

2. 15

3.10

4.0

Correct Answer :-

17) The environment in which children grow up will how they think and what they think about. / IEGRIEERE a% g %’, CH

F1 ¢ 7 95 $9 Aiaar § ok 98 |1 HEar g
1. maintain / TTARYT
2. weaken and disturb / FISR 3R TR
3. scare / XM

4. influence / THTfad

Correct Answer :-

« influence / gHTfad

18) Gender division is defined as . /ﬁmﬁ'm?rr—fﬁ %wﬁuﬁ%@a%mwél

1. Division between male employees and female employees. / T3 mmmﬁ%aﬁﬂﬁlﬂml

2. Biological differences between males and females. /W mmﬁ%@ﬂm 3R

3. Male to female ratio. /w@m%mﬁm S{UId|

4. The hierarchal roles of males and females within society. / THIS & 3fdiid Goul iR ARRwst &) ugrmy Yfwsi

Correct Answer :-

« The hierarchal roles of males and females within society. / THS & 3fdifd TISF iR ARWST &) UgHHH Ywsi|
19) What is teaching through deductive method? /ﬁTITI"T fafy GRT ﬁT&‘I’UTW %?

1. From macro to micro / B %msﬁ ddh

2. From general to specific / ITHTA J fafky a®

3. From specific to general / fafey & g a%

4. From easy to difficult / 3T Y Hie db

Correct Answer :-

« From general to specific / T ¥ fafR1y d&

20) Students don’t want to learn new concepts which are /A _ g € Q) TS srauronsi & e T ed § |
1. Ambiguous / e

2. Intelligible / ISR
3. High quality / S8R
4. Plausible / -

Correct Answer :-



« Ambiguous / dfgrends

21) Which of the following statements is NOT true? / fFafifa ®y=i & ¥ #19 T1 9w 781 @2

1. Some diseases and disorders are a product of inheritance. / P& T 3R fgPR a'-‘l'l'lﬂ"'lﬁ a?f %I

2. Enriched environment enhances child’s development. / HHe& ATdTdXU = & faerg B deldl % |

3. All genetic disorders can be prevented by taking proper measures. / Ifad U Hap it G'I'I_:fclm @RI B BT S AHT %I
4. Children are able to learn more finite skills through play. / T QA S ATeH I e R e PR J wem g

Correct Answer :-

« All genetic disorders can be prevented by taking proper measures. / 3Ifera U Hp gt 3”3,3% faRI &Y AT S et %I

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? / foramst & T e & Risia b, "H:cf
HiFATHS SawIT BT 96T 132

1. Operational thought / Tfcraras faar
2. Abstract concepts / S-IHﬁ S{AYROT

3. Object permanence / %] R

4. Symbolic thought / PRICACE AT

Correct Answer :-

e Operational thought / Tfchares faar

23) Which of the following is not a concept related to classical conditioning? / fFrafufaa & @ 19 & sl < @Wﬁmﬂ P ) J
Heiftra sraemom g 32

1. Neutral stimulus / 7e) JE1UH

2. Conditioned response / Gﬂaﬁﬁ &Iﬂaﬂﬂ

3. Shaping / T (@fﬁl"T)

4. Stimulus generalization / WW

Correct Answer :-

« Shaping / FreTor (ftm)

24) Each child is unique. This statement refers to the principle of: / Y& g 3ifgdia 81 98 HU9 ¥ Rrgia &1 Jefid srar 21
1. Continuity / ISEGRG

2. Uniform Pattern / Th=Udl

3. Integration / W@fb_&ﬂ

4. Individual Differences / Jafdics fierd

Correct Answer :-
« Individual Differences / 3afariep farerdl

25) Similar attributes are combined together by the child to form ./ ¥ fAufor & o= gRT Ue A1y g faRwarsi &
e g wrar &

1. Concepts / YR
2. Letters / 3&R
3. Words / Ueg
4, Judgments / 3THIA

Correct Answer :-

e Concepts / YR



26) Children gain a good understanding of scientific reasoning and practice because of pedagogical approaches that focus on: /

Qeifore eRFHIU & P R H Fa 71 T 71 e T R 3 i 33t I e1id a3d &
1. Writing skills / TG &l
2. Scientific ideas / 3T~ AR

3. Communication / §dR

4. Student activity / mﬁﬁm

Correct Answer :-

« Scientific ideas / 33T fa=R

27) Inclusive education is a new towards educating the children with disabilities. / AT fReror, faeai g=ii @1 Riféa s
I Rz A v T 21

1. Demand / AT

2. Approach / SURTH @I@aﬁm
3. Direction / FGer (%QTD

4. Process / Ufesdl

Correct Answer :-

« Approach / JUTTH (¥

28) Ignoring of the learning- readiness would result in ./ SIRATH - qeuRaT B Iuen F dR W ivomy At
1. Development / fasTa

2. Maturation / GRU&dT

3. Improvement / JUR
4. Frustration / FFRTY

Correct Answer :-

« Frustration / FRTY

29) Self-evaluation by a teacher shows hisroleasa____ . / U% fI&/® gRT Wa-gedic 3AD! YftrepT Y gRIfaT 81
1. Classroom researcher / & emaff

2. Reflective practitioner / faaR=fa gfte (Rudifdea HfdeeR)

3. Co- learner / ﬂ’s’-ﬁT&ﬂ?ﬁ(ﬂﬁT)

4. Facilitator / Uf1&/®

Correct Answer :-

« Reflective practitioner / faReia g (Rudifdea HaezR)

30) What does the term 'Dyslexia’ denote? / 'SR Wg f$a fRefia Fear 82

1. Difficulty in taking notes. / ﬁwéﬁ B aHaw|

2. Learning difficulty that can cause problems with reading, writing and spelling. / raq ot 39—%_'[[_5; S| III’(.'!%{, forem 3R adHt & T ﬁaT PR DA %I
3. Learning difficulty with number processing and calculation. / THT YHRHRU 3R IO 3 Ty R B W%_'ﬂ_ﬁcl

4. Specific handwriting disability. / fafery ferarae feaaian

Correct Answer :-

« Learning difficulty that can cause problems with reading, writing and spelling. / e Bt W%_'ﬂg S qﬁ,ﬁ, foram iR ot & T Uer R gt %’I

Topic:- General Hindi (L1GH)

1)



R FAM #, 8 501 How ST A BT A PT SHIET ST UT| AT HeTpia e (et ra a1 9 0t 6 af gd 8) & werere sfigs aur sistl
YRR TAaTel B Nid-a-0 B ey A1 37 A AeTHTel § P e g gWR UfRTal €1 $ aRT df 37 G UTe R T A

YRT § Ge1 A B UTHTY Sl o1t 76t & foeg T 90 & Wpd BT WG AR HRd § 8T UT| YR $ SH-o11 A Sadl 3R gl 3 dwpd & wia @
YRR AR BT YSR WRT| U URG BT 31 T4T fAg gr-gR & =0 aw S

fRrrers udd 3R TER-TTEY ARRY B} UR FRS URA 31 FEIFE HT USR “SY-ARAERR, “Uaer 3R W6d, gR-g3 30 9% ugdn|
ST T Y Ugepy A1 TR MY YA BT I I3 :

U: "SI’ FT 3T §?

1. TG HR AT

2. &3 BT TART A BT

3. %3 B W% BT

4. Y& ST

Correct Answer :-

2) T 9 #, e 5T $) How1 P a7 BT AN BT 1A 71 AT1 G AeTed g1 (et o1ar 391 6 1t 9t af d ©) & Hererer ‘s’ qur
‘ISR daw TaTal B Q-GN B bow A1 57 G TeTHTedl § P AP IFEH gWR UfRTaT § 1 $O TR A S TN[T 918 B TP U1

YRT § eI A B UTHTY Sl o7t 76 & foeg TR 70 & Wpd BT WElT AR HRd | €T UT| YR $ SH-o1 A Sl 3R gl 3 dwpd & wia &
YRR AR BT YSR URTI U YR BT a1 a4T fage gr-gR & 3= aw e

fRrrers udd 3R TER-TTEY WRRY B} UR FRE URA 31 FEIFEN HT USR “FYU-ARAERR, “Uae 3R W6, gR-g¥ 30 9% g
I TR B UGHR - T T Y= BT IR I8¢

TT: RATT AR BT HUSK fagrt A e wrar & &iRd e

1. ¥Ppd

2. el

3. Tl

4, 3Oy

Correct Answer :-

3) T THM ¥, oA §T &1 HowI $ A T AR BT FRAT & oT| TAH WeTepia g1 (Rt #rat S & 7t 0t ad o @) & wgrpran ‘gfergs aur
NSRRI IR ATl BT Fidt-aR-0idt B Fowy A1 39 ST HETHT W Fo MHATHR GTET TWR YRl & | $ IRV df 3HA INET UG B Tohd A1

YR & W1V FS UTHTE Siell STl T8 € fpg R 90 & IRPpd BT UGRT IR R # g1 471 URd & S1A-$11 F Siaa) 3R gl 3 Wpa $ waid
YR AT BT UHSR WRT1 U YR BT o= a7 FAg gR-g% & =0 9 el

feTera uda 3R TER-TER ARRY $) IR FRF URA BT A1 T WSR “SUT-ARAENR, “Tad’ SR Saa’, gR-gr 3% a@ ugdn|
IUYe T B UgHR F TR Y YA BT IR I3 :

R YR H foma-t urarg sieft Wit &2

1.T&h

2.3

3.°Ud

4. 3F®

Correct Answer :-

4) A T ¥, R §¢ H FER X A BT ARN BT SFRAT ST ATI GAMT WRThia g (Rt &1 3 § it 3t af ud @) & vererer ‘sims aur
*SNERAY TR ATl $1 fidl-aR-e B dewi A1 37 QA1 HeTHIedl B pot e gy gWR Ufeadl & | $© IR d 38 91HT UIE X Fbd |

YR ¥ W1V FS UTHTE Siell STl T8 & fpg A 9H & IRPpd BT UGN IR URA # ST 471 R & S-$11 § Siaa) 3R gl 3 wwpd F aia
YRR A BT WSR WRT1 U URa &7 g1 a1 fage gr-gR & 3=t a e

fRrmerg uda 3R TER-TTEY WRRI B UR $R& URA P FEIE! BT HSR “FU-GRAERR, “Uaas 3R W6, gR-g 321 9% ugdn|
I TR B UG 19 IR T U BT <R Ia5¢
U R THM § YR § 5T UTST ST 7ahT giem 42



1. ¥pd
2. &1
3. 3&

4. TTHIDIE eI

Correct Answer :-

5) R UM #, RIE §U B HE B A BT AR BT SRAT & AT| GAT WThia FIAR (PRIt 1et $1 | =1 4 af ud ®) & Werhred ‘sferas’ aun
NSt IR MHaTEl 1 fidl-ar-N B dewr A1 37 QA1 Tl B o e gy guR Uikl § | $O IR A 581 9ET a1E Y Fhd A

YR H TeT A FF HIUTE sl et 8 & frg A T0H & TRpd 3T W6 IR URd | T 4T1 URd & $H-31H A gl ok fagrl 3 Wpd & 9k &
YRR A BT YSR WRT| WA YR BT a1 a1 fag= gr-gr & 3= aw e

fewTera uda 3R TER-TEY ARRY F) IR TP HRA B BTG BT WSR “SUT-ARAENR, “Taa’ SR *Saa”, gR-gx o0 a@ ugdn|
IR TR B UgHR 1A T T Y= BT IR I8¢

URT: YRA $1 B4 T FgTH BT YISR gR-gR 3| T Ugam

1. Had SdH

2. A HU-FRAITR

3. had Ugdd

4, SR auft

Correct Answer :-

. IR goft

6) A THM ¥, Y §T B Ha B A BT AN BT SIRAT G ATI GA WTohfa FIHR (FPRyepT 1et $1 & =1 i af gqd ®) & Werwred ‘sferas’ aur
‘ISR Tdaw TaTal @ NQ-a- N B dow A1 57 G TeTHTe § P AP G TR UfRTar § 1 PO TR A SHS INAT 918 B WA U1

YRT § Ge1 A B UTHTY Siell o1t € & foeg TR 70 & Wpd BT WG AR HRA § 81T AT YRA $ H-o11 A Sadl 3R gl 3 dwpd & wid @
YRR AR BT YSR WRT| U YR BT 31 T4T fag gr-gR & 3= aw e

faTera uda 3R TER-TEX ANRI F) IR BRF YR B HEIG1 BT YR ‘SUT-URAENR, ‘Uo7’ SR Wad’, gr-g 30 a% ugdn|
ST T B UgH A TR Y Y= BT W I8

= : ‘sferas’ ok oY ugTeTa d Fa e feas dfFmal &2

1. 38,000

2. 18,000

3.28,000

4. 27,000

Correct Answer :-

7) TR M ¥, RIS §T T SO BT A ST AR ST 31T G AT TATT ASTHTA SR (Foreept Prar S0 9 =t 1 @ qd ) & Herepred ‘shergs” aur
*3NERAY IR TAaTE Bt TIH-R-NH B bowy A1 39 Q) AETHTH] § Pl RIATHT AFEH TR Uil 1 $© TR af THA AT 1G B Febal A

YRT § Ge1 A B UTHTY Sl o1t 7€ & foeg TR 70 & Wpd BT WG AR HRA § €T AT YR $ SH-o11 A Sadl 3R gl 3 dwpd & wika @
YRR AR BT YSR URTI WA YR BT 31 T4T fag gr-gR F 3= aw e

fRrrers udd 3R TER-TTEY ARRY FY UR FRS URA 31 FEIE! BT HSR "FYU-ARAARR, “Uaer 3R 6, gR-g¥ 30 9% gl
ST TR B UgHR A TR T Y= BT W I8

R U’ W B A1 32

1. g gu

2. 95 999

3. ST FHY

4. FHYRY TH

Correct Answer :-

. feraAg



8) IR THM H, R §T B e B AN BT AN BT ST G AT| G TgTohfa TR (RRTepT 1et $31 A =7t & af qd B) & werwred “sfeas’ aur
SRR IR TAaTE Bt AIH-R-H B bowy A1 37 I HETHTH! T P RIATHT AFEH FWR Ul &1 $© TR af THA AT T1G B Fhd U

YR W T A FF WIS Sl et 781 & frg A THM A TWpd 3T W6 IR URd ® T 4T1 HRd & $1-$14 A gl R gl 3 WRpd & aika &
YRR A BT YSR WRTI U URd &7 a1 74T fage gr-gR F 3= aw e

feaTera uda 3R TER-TER ARRY F) IR HRP YR B A1 T WSR “SUT-ARAENR, T’ SR Sad’, gR-gr 3% a@ ugdn|
I TR B UGB - T 7T Y= BT IR T3¢

;NS frad R IR T wereTe 72

1. 3ferge

2. BTARS

3.8

4. fradw

Correct Answer :-

9) T FHM #, A 5T &1 HowI T A PT AR BT FRAT & oT| TAH WeTepia g1 (Rt #rat S & 7t it ad o @) & wgropran ‘sfrgs aur
*3NERAY TR ATl BT fidl-gR-0e B dewi A1 37 A1 UgTHIeal B ot MAde Ay gwR Ufdadl & | $© IRl d 30 9HT UIe T Fhd A

YR W T A B HIWTE Sl et 78 & frg A T0M A T¥pd 3T 76 IR URd § T 4T1 HRd & $1-$14 A gl R gl A WRepd & aika &
YR A BT UHSR WRT1 U YR BT o= a7 FAgT gR-gR & =0 a9 Tel|

feaTera uda 3R TER-TER ARRY F) IR HRP YR BT G T SR “HUT-ARAENR, T’ SR Saa’, gR-gx 30 a@ ugdn|
IRIF T B UgHR 1 U T U= T IR 9a1s¢

UR: TR I A2

1. HYBR

2. ATD

3. HETh(d

4. ST

Correct Answer :-

10) RN FHM #, 1A 5T H) $oRI BT A BT ANl BT AT S UTI AT o id eR (et orat $a1 @ = 0 af ud 8) ¥ wereran ‘shms’ aur
NS TR ATl 31 fidl-ar-fet Bt dewi A1 37 QA1 HeTHIeEl B po e gy gWR Uikl & | $O IR d 389 9ET UIE X Fhd A

YR ¥ W1V $S UTHTE Siel STl 8T & fpg RA 9HA & IRPd BT UGRT AR URA ST 471 R & SA-$11 S Biaal iR gt 3 wepa $ aia &
YRR A BT WSR WRT| U R &7 g1 941 fage gr-gR & o=t a% e

feuTaa uda iR TE-TTEY ARRY B UR BRP YR B BRI BT SR ‘HU-ARTANR’, "Tada’ R Wa®’, gR-g< =0 b ugdn
ST TN B UGHR 12 S Y ¥ ST S q@5C :

UR: IR T AgTHTT 82

1. sfergm

2. 3feTs

3. 3ffStdt

4 TR

Correct Answer :-

11) M 9AF #, 1A 5T H FoR BT A7 BT AN BT AT &7 UT| AT o id e (et orat s31 @ = 0 af ud @) ¥ werera shms’ aur
NS TR ATl 31 fidl-gr-0e Bt dew A1 37 QA1 HeTwel B o e gy guR Uikl & | $O IR d 39 9ET a1E X Fhd A

YR T TV $S UTHTE Slell STt &1 & fpg A THA & IRPd BT UGRT IR R ST 4T1 YR & S-$11 S Biaal iR gl 3 wepa F wia &
YRR HIfEe BT WSR WRT| U HRd &7 g4 a1 fage gr-gR & o= a e

frwTers uda 9k TER-TTEY URRI B UR $¥& HRA 31 FEIE! BT HSR ‘SU-GRAURR, “Gas 3R e, gR-g 31 a® ugdl|
IWY T B UgHT 1 U Y YR T SWR 9a1sC :



U ‘HEThT’ Xeg A I AT A 82
1187
2.88

3. G
4, HHYRY

Correct Answer :-

. HHYRY

12) ¥ 9 #, RS 5T $Y $oRI B 81 ST AN ST AT 71 47| G AeTefd g1 (et o1t S0 4 it 6t 9 gd ©) & Herered ‘sfiomrs’ qur
SRR Idaw TaTal B Q-GN B bow A1 57 G TeTHTedl § P AP IFET TR UfRTAT § 1 $O TR A S IN[AT 918 B TP A1

YRT § eI A B UTHTY sl o1t 761 § foeg TR 70 & Wpd BT WEIT AR HRd § E1T UT| YR $ SH-o11 A Saal 3R gl 3 dwpd & wika &
YRR AR BT YSR URT| U URG BT a1 a4T fag gr-gR F 30 aw e

fRrrers udd 3R TER-TTEY WRRY B} UR FRF URA 31 FEIEN HT USR “FY-ARAERR, “Uae 3R W6, gR-g 30 9% ugdn|
ST T B TGP A1 TS T T BT IR IR :

TH: IFRET Mg FT W 2eg T 32

1. Had 33T

2. Had 3UH

3. Sael ATl

4. YIS gt

Correct Answer :-

. IWad gt

13) A FHM #, R gU P SO I3 A ST AN BT IR &1 411 T AeTefd g1 (Rrwreet o1 $a1 @ =it &t af gd 8) & wereran ‘sfrgs qur
*3NERAY URIaR ATl $1 fidl-aR-0e B dewi A1 37 QA1 UgTHIeal B pof e Ay gwR Uil & | $© IRl d 307 9HT UIE T Thd A

YR & TeT A $S UTHTE Siell STl 8 & fpg R oW & IR d BT UGN AN R # ST 471 YR & S1-$11 § Siaa) 3R fgel 3 wwpa $ wfd
YR A BT UHSR WRT1 U YR BT o= a7 FAg R-g% & =0 a9 el

feaTera uda 3R TER-TER ARRY F) IR FRP YR BT A1 T WSR “SUT-ARAENR, T’ SR Sad’, gR-gx 3% a@ ugdn|
IUYE T B UgHR A TR Y YA BT IR qa@19T :

w=: fagT <1eg 1 TR <reg Fam SRR

1. fagrat

2. faemsht

3. faoprt

4. faght

Correct Answer :-

14) A TAM H, @ gU B How B A BT A1 ST 3FRAT & ATI G GgTehfa goR (Rraet o1 $a1 @ =t 1t af gd &) & werered ‘sfas’ aun
*SNERAY URIaR ATl $1 fidl-gR-0e Bt dewi A1 37 QA1 UgTHIeal B pot e gy gWR Uil & | $© IRl d 38 9HT UIg X Fhd |

YR ¥ W1V FS UTHTE Siell STl T8 & fpg R oW & IRPd BT UGN IR R ST 471 YR & S-$11 F Siaa) iR fagel 3 Wpa F aia
YRR AR BT WSR WRT1 U URa &7 g1 941 fage gr-gR & 3=t a e

fRrrery uda 3R TER-TTEY WRRI B} UR FRF URA P FEIE! BT HSR “FU-ARAERR, “Uaeas 3R e, gR-g 321 9% ugdn|
IUYe T B UgHR R I Y ¥R BT I« T :

U HRA & PI-HI1 § HRATT Aifecd T HSR e w_m?

1. TH AR T

2. Had Hfadi 4

3. had fagH 4

4. Haa SR fagm AF 3

Correct Answer :-



15) R 9HF #, 1A g H) $oRI BT A7 BT ANl BT AT &7 UT| AT WETpid e (et orat s31 @ Y 0 af ud @) & wereran ‘shms’ aur
3 IR HaTEl #1 fidl-gr-N B dew A1 37 QA1 Tl B o e A5y guR Uikl § | $O IR A 599 9ET a1E X Fhd A

YR T W1 H B UTHTE Siei STl 8T & fpeg A 9H & IRPd BT UGRT AR R 811 4T1 YR & B-$11 F Biaa) 3R gl 3 wepa F wia &
YRR AR BT YSR WRT1 WA YR BT 31 a1 fage gr-gR & o= aw e

fewrera uda 3R TER-TEN ARRY F) IR TS HRA B BEIA1 BT WSR “SUT-ARAENR, “Tac’ SR Saa”, gR-gx o0 a@ ugdn|
ST TR B UgHR - T T U= HT I« qd15¢ :

WR: YR B FEIT fFHB! UR ISP gR I 9 g

1. FH AP T

2. fomTer udd ofR 9FRY 1

3. Haq g udd

4, HId IR

Correct Answer :-

16) 3Fid A H eFd T & @S,
W B g S 99T @ I3 |
RERTGATE | I8! 4T Fet waft |
3t srr—si ® 3w g wel Jafti
WA P @ ATIH IR FTW,
I8 7w ® T ot wgsr & R A

ST TR B UeHT A IR o9 91a U $T IR qarsy|
T T3-S U A P A A ww @2

17) 3Fid 3iaRer § eFd g § @S,
w8 ) aaTg S 99T @ g9
RERTTAT I 331 94T Fe 7Y,
3t erT—3i # 3rue g T ! gt
WAN P FITFH IR FTW,
8 wgw R % < wgw & R =Ry

IRF TR B UgHR 1 IR WA 91 IR $T IWR qarsu|
U: S BT fae q1sg 1 g2

1. URY

2. 3BTA

3. St

4, 3fd

Correct Answer :-

18) 3d 3fales § sFd T T @S,
FHel € TaaTg Sl 99138 T3-S
TRERTGEHE | 3o auT Tet 9aff,
3t er—ai # 3rue g Tel gt
WAN P FIATIH MR FTW,
I8 7gw & 5 o 7w & g W

IWF UL B UgHR 1 U W 91 IR BT IWR qarsu|



U 3 ... TS TR & B T 6P 82
1 TH AP T

2. qOTifad

3. IopIfeRT

4. dlush

Correct Answer :-

. TIPS TR

19) 3rq afkes ¥ sFd T E TS,
|He € TaTg Sl 987 38 TS99 |
RERTGAH | 361 a7 Tet Toff,
3t a3 # e g Tel It
WAN P @ ATIH IR FTW,
78 7gw & o o 7w & g W

IWT UL B UgHR 1 U W 91a IR $T IWR qarsu|
U= ga1g’ W W BT iy Tt 82

13

2. gy

3.Wd 9

4. 3fcia A

Correct Answer :-

20) 3id efafver & sFid 3T T @R,
He € TaTg Sl 9371 R 33|
RERTGAE | I8! 4T Fet |aft,
3t srT-cie § s 8 9d gt
WAN P B ATIH IR BT,
T8 7y @ b ot wger & g W

ITT U B UgH T U 9 9T WA BT IR JaTs¢l
TRT: *fafer Xeg HT TaTaaTE qeg BT AT TEY 22
1.9Y

2.7

3.4

4, THHUSA

Correct Answer :-

21) 3q sfafver ¥ erd @ @R,
Hel € Taag Sl 9138 TS|
RERTAATE | I8! 4T Fet |t
3t sr=g—3ip # 3rue BY Jer ||
WAN P FIATPIH IR BT,
T8 7y @ e <t wgsa & g

ST U F] USHR Y TP T aTd U= FT IR q@15¢
U TR | B WSl 82

1.7%

2. gadl

3.qMd

4. TR

Correct Answer :-



22) oFd SRy FeFd T E @S,
Hel €1 ¥aag Sl 91 36 T3-S
RERTAAT | I1 4T Fet waft
3t srr—3i ® 3w g Tel gt
WA P @ ATIH IR PTW,
T8 vy @ b <t wgsr & Rg W

IT U P UgHR T IR 9H a1 U= BT SR qa15¢|
UR: 39 BT Tigar Mg I T T8I 82
1. <adn

2.
3. qHd

4.

Correct Answer :-

23) 3 aie # e T & @S,
Huel € TaaTg Sl 99138 T3-S
RERTEAE ¥ 331 4T Fet |t
3t erT—3ie # 3rue g wel gt
AN P FITIH IR FTW,
98 v @ T St wgw & R

IRF TR B UgHR 1 U W 1 IR BT IWR qarsu]
TR A&, SUIY A 1 B8l 90T 82

1. W

2.31Y

3. 7&F

4.7

Correct Answer :-

24) 3 siafve & s da € @,
THe € TaTg Sl 9371 R 3931
RERTGATE | I8! a4 Fet waft,
3t srTsr-sie § arde &) 9dr gt
WANF @ ATIH N FTW,
@ agw ¢ 6 ot wgw & Rrgw

IWT TR B UgHT A UD W 9Ta IR $T IWR qarsy|
U: aal fFud W@ & e @S 72

1. RUSR 7 &

2. It &

3.W S

4.3 P

Correct Answer :-

. NUSR T &

25) oFid saia F ed g e @s,
THe & T o 98T @ T3 |
RERTGATE | I8! a4 Fet |aft,
3t srr—ai # 3w g Tel Jafti
WA P B ATHH IR BT,
T8 vy @ e <t wgsr & g W

ITe U B UgH T U 9 9T WA BT IR Fa1s¢l



U: B A HIB! TP gi? T & o it a1 B, Fifs 2
1. B9 30T 3R yd g1

2. TS T Sitg U=l Fghrial R R g1

3. A &1 1 g1 [ HAT G|

4. TS STATRTG UToR B

Correct Answer :-

. AT P Sfia SToh wepiial R AR 31

26) 3ria fafver F sd T T @,
He € TaTg Sl 9371 @ 33|
RERTTAH | 361 a7 Tet Taff,
3t a3 e g Tel It
WAN P @ ATIH MM FTW,
78 7gw & o o 7w & g W

IWT UL B UgHR 1 U W 91a IR $T IWR qarsu|
UH: B3 & SFAR ‘T’ B § &2

1. -G BT Ry |

2. -G 9 oo 7|

3. UP-guR & 1 3|

4. TH-gIR & B Ht 7 3|

Correct Answer :-

. TH-GI S B 3ATYI

27) 3Fd eiafver & sFid 3T E @S,
He € TaTg Sl 9371 R 33|
RERTGAE | I8! 4T Fet |aft,
3t srT-cie § s 8 9d gt
WAN P B ATIH IR BT,
T8 7y @ b ot wger & g W

ITT U B UgH T U 9 9T WA BT IR JaTs¢l
UL: B & ATIAR, I B AT g1 A1eT?

1. A WIIHRY

2. Had ga1q

3. Had YAl P arar

4. IWad It

Correct Answer :-

. IR gaft

28) 3Fid 3fafvel & ST T & WL,
Hel € Taag Sl 9138 TS|
RERTAATE | I8! 4T Fet |t
3t sr=g—3ip # 3rue BY Jer ||
WAN P FIATPIH IR BT,
T8 7y @ e <t wgsa & g

ITYF T FY U Y TS W 91 I $T W qA15¢
U: U B s forg ohem anfeee

1. 3 & fag

2. @Y ¥ ferg

3. W & fo

4. Y8 & fog

Correct Answer :-



20) 3Fd S A A A T,
T § TqaTg St 9eT TE T8-S |
RERTAAT | I1 4T Fet waft
3t srr—3i ® 3w g Tel gt
@ 9 fh T AT B AR BT,
I8 wgw ® 6 ot wgsr & R A

ITGF U FY U Y TS W 91 I $T W q@19¢
URH: A BT M0 § H g1 A1eT?

1. YE-IRY

2. SHAMA Y

ERERDE

4. 7Y

Correct Answer :-

. UEERY

30) 3id 3ARe H eFd T § @S,
Huel € TaaTg Sl 99138 T3-S
RERTEAE ¥ 331 4T Fet |t
3t erT—3ie # 3rue g wel gt
AN P FITIH IR FTW,
98 v @ T St wgw & R

IWT TR B UgHR 1 U W 1 IR BT IWR qarsu|
URH: U TN & AT | BiY T W= &1 aTedl 872
1. RIS

2. foemRran

3. e

4. AT

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y 33de udaea: AT a@fed |

4.

Correct Answer :-



TR 9fdcar yeasg ch;aagcd{ qIad -

AR e s pefFoe: gy adfed | Y sIv6: IRARET Al
Sl AT FLIA | § FIY IGgRY P safd | IRAN Hal: FFL:
EoIgel eTapiiod | HioTSar: SASIHAA 3MMed Hdlod | AL el
Eoeafea | ad T@ & F4 Fafed | FaOr sl M 36774 &
¥ HAVYERA: H@8TE o @ | 9RaR - Uar, A, 9o, gigdr: -
Eehcied Yrerdied | fUq: Sieish: TUam#e: 3ead, Sl o [Oasgr 3ead |
AG: fOdr ATAEE: HLIA, AGAIAT T AGHgT w2 | ameer T
q uladeg: 3=9d, AR Odr 9 YAEHs: F2ad | 37 SRy
AT Aged: 3Tad fohed AT 16T AT LA | UG AR Agsaar
3 3 T A AR AlGeadr 34¢ | @i g i sad
T T ol wead | gEET g 9 3739, gfed: I g 37
| g&8o7 faarfear & g, s, er, Ford ar Fead | fEarfea:
gey: ufd: sidl a1 3Tad | 3y, Affean: 9fd: sded: 3Td | gl
Ul STATAT H2ad | HARAT: Welal: QAT T2AT WeladT eqTell A |
AR Tl Trefaal: ERET @A HAT |

HIASSN: TASSIATH el Fdiod 37T HGIH Asaey 372fsTeT -




AL IRE PR

-~
4,

Correct Answer :-

ICEATAAH

eellehl gfdcar srenfafésery weaea qgdacal Faad -

of Foauneilel: TileaAi HeShaAEa: |
AUSTT: YelellAIssTGaNRIASHAT |

IoISdated Hdlee Sl S dcaiad |
gl asiissTaTgs: Yaed fagr: &7 |

37eTT AUSEY: eTellall 387

&Rfor

1.

2. 2

| ToraTeeTar
. ISR

Correct Answer :-

Correct Answer :-

. gEedl



TR<e gfdcar ueaeg &A-.gagcdi gaad -

I v qaedr fefer 3eafa | 3 f9ees 3Red Tegd | 3 e
e AR | AR HHEAA deg: dNred fdeear: sidied |
Ay give: Swrd | §AA 3i¢d esear gfaion: derd Fafed | a:,
oIcl:, AcATed FAAE: faficd | gae: $HAWT oo HE 376y
fea] gt |

SccAT: BTET: TATdehel YAGATT UTeh UF 3fcdsolod | d oA ear
Grddlde Fdfed | dGs] SUMTH Fedl Tl Fdied | dqelec’ S €Tl
fenT>Ie, STelaTeTiceh Hafed | Tdgelecd o BTAT: TIUIS Uofed | GaEh:
d T T FAMO eElfed | FEAe FIET AAT: yavs: #afd | fFervd:
AT J FEAT SIS | TaT Ul J&TON BRI, Je-ed | FAE-
HAIT, 9T HeATHlel: Hafd | dal Sl FRbEsy: ¢ Iidfdaded
| vafEAe GAY faenidie: $rseay dhisfea | Fer g2 e Tesfd
e TET gehrer: FfeRaol: safd | der R AfF: stafa | I wayg
feermy seaer: TERid | dal ATATOT, FHIRIOY, 3G, daliel o
HeIHNUT HTBIGANA €2hed | dal ST EaUied |

‘TeAeadH 3T Hictetalsied -

| dd + 3FeleiA

TG + AH

| T + 3MeeaH

del + dAeddd

4.

Correct Answer :-

dd + Hded¥H



TR 9TScar yeasg Qgﬁagcd{ qIadT -

RS e s FefFae: greqg qdied | gy sI°6: IRARET AT
el aT H2IA | § FJY FGgRY P safd | IRAN Hal: FFaL:
Tolgel ETAeiiod | HioTSar: SASIHATA el Hdled | AT Alel
Eoeafea | ad ¥ & ®a Faled | Far SApsola A 36701 &
T HAVYERA: @8 o @ | 9RaR - Uar, &, g, giedr: &-
Fhaed drerdied | U Sieteh: [Oam@Ag: 3244, Siefell o Ua#gl 320 |
AY: O ATAEAE: H2Id, AGATGT T ATAAg F2Ad | ey T
q uiadarAg: 39, AR [OdT T YAHE: F2ad | 37 SRy
A1l [Jed: 3Tad fohed ATG: 1T A H2Ad | U A6 Agsaar
3T 3 T AT A ATGSIET 3G | #faea: g anfaead: s
O T ol wead | gEET g Ol 3739, gfed: g difeT: 37
| g&¥o7 faarfear & gl oI, @R, ol ar H2ad | Ear fAarfed:
gew: gfad: o1l a1 3Tad | 3y, Afdedn: 9fd: dded: 3Tud | g
Ul STATAT H2d | AAAT: WElaL: QAT TAT Welad eATell A |
AR Fafsf Seeyael: e TFAE R |

Mﬁg@ﬁﬁg&%ﬂﬂﬁ—



URToe Ifocal Ueded Qgﬁagcd{ qaad -

AR 9l AT Felrae: TF[T q@ied | Ty U5 IRARTT AT
Tl T FAS | T Y FGERY HTeP: saiad | IRAR Far: oo
Figed cAaplled | HiASON: SUSIHAA G Fdled | AT dle]
Erealra | ad ¥ & ®A $dfed | g1 APpsuld Ma@d 3Fa4- &
T HATGERT: FATE oo @ | IRaR - fUar, Adn, 9o, gian: 6-
Tghccd UTedied | fUq: Sefeh: Mamse: 3Tad, Siee 9 fOdmaer 3wad |
ATT: T ATdIAg: $2ad, ATGATT T ATTHE H2dd | OdraAged Aar
d widrAe: 3Taq, AAHeEd a1 o YATdHAg: H2ad | 3 Sahed
AT Oqea: 3Tad fahed A H1aT Ao H2Ad | UG AR Aqgeaar
3T 3T T ATG: AP AGSIAT 3TAT | ART: T AET: FAd
@HWWI WF:H’H:B@?{, g%gg’:ra‘f%‘armﬁ
| ge8T fdarfear & Uoedl, S, ERT, Sherd a1 ®eAd | e faarea:
gey: ufd: efcll a1 3ead | 3, sifdean: ofd: srged: 3ad | gRd:
TfdE STATAT H2Ad | AT Welel: QATel: TAT Weled earell A |
AR FafsTT Seyddl: WEE FA AT |

ATATAT Ud &2 -

9)

AHARC [EAATAT heeellehlel H&ar 311Ed-

1 rscHgAlcaRiaeiaagad
_ 3TSCAAN A CAG G HH,

SeIcaScag I

3. -~




HSCAANCATSCHEIH
4,

Correct Answer :-

HSCAANCATSCHEIH

10)

IRTeE IiScdl JeaEy AgdAcR Jaad -

I v qaed el 3eafa | 3 f9eeH 3Red Tegd | 3rEl e
FeUPR AR | FAET IEFEAS HUeg: dRed fdeear #afed |
Faig gfve: Swrd | gdA 3fqd esear gfdion: derd Fafed | oRay,
ofdr:, JeATeT FHANS: Afdled | Uaed: YA oo e mﬁg
fa] warafa |

3cAT: BIET: TSIl JIAfGAT Uk va 3fcasafed | d ot Fear
GradTdel Fafed | dee] SMH Fcdl &l Fdled | Taeleck 5 ATl
fenf>ee STerdTeTieeh $afed | Tdgara] o STHT: TUIS Udled | T
d T & HAY olied | ALAES GIAET HA9: Javs: #Adid | I
AT J IHEAT A | T TTe2: JEOT SR, 35 | G-
FHAAT, ITeh HEITHIe: 7dfd | a7 FoAT: FHRIEAY: g Tidfeiaded
| CATEAA EHY fagaida: Hseny Hisfed | Jar g3: e Testd
el T Yeprel: FERGUT: fafd | der feRiga ufF: safd | it @arg
feermy smerep: WERI | TaT ATATT, FIRIYY, 3G, Telliel o
3ePROT BN TTedd | &l Sfell: Faafed |

Wb SegUICAreT uNT fasifed: -
oA
Tqf
TCaHT

3.
YAHAT

4.

Correct Answer :-



TR afdcar yeaEd QAﬁdgcdi gaad -

R 9T AT Felaae: TFT qhied | Y I IRARTT AT
Tl a1 HAS | F Y FGpRY HTeh: faf | IRAR Fal: g
Figel chdeliod | HicISoN: SASSIHH el Fdfed | SASSIRY e,
Eealera | ad ¥ & ®A Hdfed | Far Apsole M@ 3¢a8- &
¥ HATIERT: WA oo @ | 9RaR - [Oar, &dn, g9, giear: &-
Tgehcicd Ueied | U Sefeh: Wamee: 3Tad, Ser 9 fOdmaer 32ad |
AT [T AdIAg: $2ad, ATGATTT o ATTHE H2dd | Oareged Aar
q uldAe: 3TIq, AHEET [Odr o TATAAG: H2qd | 37 SeThed
AT [Oqea: 3Tad faved A #1aT Ao H2ad | UG A Aqeaarn
3T 37T T ATG: AP AT 3TAS | ART: G AHEAT: Fedd
@HWWI WF:EI’H:W, Wg’:ra‘f%‘armﬁ
| q&87 fdarfear E Uoedl, s, NI, &l a1 Head | e faarfea:
gey: ufd: o7l a1 3ead | 31y, sifdean: ofd: snged: 39ad | gRa:
UfdE STATAT H2Ad | ATAAT: Felel: QATel: TAT Welel ehrell H2Ad |
AR FafsTT Seydel: WEEd FAA ST |

G 3T GIANSTES -
el

1.

2 e



Yoliehl afScar IrafAfEser e YgHcal YaId -

Tdcleie §IdTfl FAOgIeRT |
HE HEATT SIITd: UHT: T gedqaT ||

Acd: W Aledd fhfugied gdsaa |
AT FAAG Wd A ATOEOT 59 |

FatAG 9T va {car AT a4 -
| STeleh0Tl 59

Z.IFIﬁTI'U'ITE;H

B@Hﬁmﬂs—q’
4:tr|€raa$trrrs—q’

Correct Answer :-

.aﬁﬂﬁmﬂs—q’



IRTBE IfScal T Y&HAH JAId -

I v qaedi ol 3eafa | 3 f9eaH 3Red Tead | 3l fem:
egeR Arfd | IR WA den: dried faeedr: safed |
oy gfte: Smifd | IR 3fqd Tocdl 9o FoRd Fdfed | @a;,
oIcT:, AT AN fafeicd | udel: AW Foloud, e 376y
fea] warafa |

3ccAT: BTET: TsTddTel JIAfGAT Ik Ta 3fcassled | d offd Fear
geauldel Fdled | Tee] SRAH Fedl Tl Fdied | Teedeck 5 €ATeal
fenf>ee STerdTelieeh Fdfed | Tdgslea] o STl TUIS Udled | TIEh:
d & & FAY WMed | ALAES FIET 39 J9Us: HIid | I
AT J TWEAT SAd | daT T2l JaTI0T BRI, 350 | FAea-
GHAT UTeh GEATHIl: dTd | JaT Sell: TTHRIEAAFT: I[§ idfladed
| TATEA @R faeafde: Hseny Hisfed | Jar g3 3redrad Mestd
Gl T Yeplel: FERQOT: sfafd | dar 3ifeRiga Ui srafd | Wt warg
feemy sTUeR: ARl | e ATATOT, FHIRMOY, 39T, dalliel o
HeEHRUT JEBTiedlsl Teded | JaT S F&9ied |

‘W 3Eg Audarsiea -

qe:

4

Correct Answer :-



eellehl fScar renfafevesy weaey qgdHcal Fadd -

o HodUTeflel: EAIleoATel [HUshA=d: |
AUSCT: elelleAlssTEaNRINISHAT ||

TorSaaTe] FAleet St S dcatad |
alfrciasiissiacgs: Yaed fagr: &= |

E 3T fAergEAE: F ¥0d-

gaIoTefier:

1.

2.
GIEE

4.
Correct Answer :-

) HLﬂQUIQﬁF{:



TR gfdcar yeaeg Qggagcdi I -

AR UL Fdsi FelFae: TFe@ adfed | TdY ¥ IRARTT AT
‘el aT LI | § TdY IRy HfOpa: #afd | IRAN Hal: FFaL:
Foigel cagifed | HiAsol: AT, el Faled | SASSIT dlel
Ereafea | ad ¥ & ®a Fafed | Far sl A 3674 &
T FAUIERT: AR T 7R | IRER - T, &G, 99, gfedR: @-
Fhced dreidied | fUq: Sieieh: [Oam@e: 3244, Siefell O Ud#Hgl 320 |
AT TUAT ATCIHE: $H2AA, AGATAT T ACGHE H2ad | Uaweed [Oar
q ufadardg: 39, AR Udr T YAEE: F2ad | 37 ey
a1 Oqey: 3Tad foheq AG: &1 Algen: F2ad | g & Agsaar
3T 3 T ATG: AN ATGSIET 3G | e g e suaa
QAT T AT Fead | GFET 99 9 324d, gied: 9 alfed: 3Tad
| @97 faarfear S gl o7, aRT, @ers a1 Head | e faarea:
TRY: Ofcl: &1al a1 3T | 37, AP afd: 3ded: 3249 | gied:
afded STATAT H2ad | ARAAT: WEIGL: LT TAT Weledl ehTell H2Ad |
AR Falsi seeael: TERET FFAE T |

g
4,

Correct Answer :-



voliehl afScar srfAfEsesy ey el AT -

Tdedlellfal ${dTfel HAOicgueRy |

3E FEATT ST UH: Teraedar ||

FAcd: W Aldd fhRIgRd 9o |
AR Fafae uid g3 AR 39 |

IEANEH 38T UHd: JAT 9eld: -

FEATT ST
3.

4.
Correct Answer :-

FEATT I

Yellehl afScar srenfafdsced ueaed qgAcd Faad -

Udcleiifel ${dTfel FoficgaeRa |

HE HoEled FId: UHd: Jolaed |

Acd: W Alad fhiugied gdsea |
AT FAAE Wd I ATOEOT 59



voliehl afScar rafATEsery weaed PGl Yaad -

o Hoaunellel: el HeSaaAEa: |
HUSE: elollaATs G aNRTINLISHAT |

aorsddied Hdieel Silct Siiq dcdfad |
gl iasiissacaa: qerT fagr: & |

decdided UdY 3ed  HATd-



Yol ufScar IrafAfEsery weaed Ye#ccl FIId -

Tdeleifel sIdTfe HAOficIueaRy |

3G PoEATT SITA: T8I TelIedadT ||

Acd: W Aledd fhfugied gdea |
AT FAfAE Wd g3 AfEOT 59 |
3794 HgAUCiAC s1afd-

_ o

icic

, eraofy

4. &

Correct Answer :-

3ol Hdl-
e

, TSTRIEoT

Correct Answer :-



4.

Correct Answer :-

22) .
Yellhl GfScar srenfafdseed ey YA Faad -
Udelefel s[dife HaoficqueaRy |
316 HEATT SIT: ToTa: Tolaeaa ||
Acd: W Aldd fhagid 9o |
AT FafAe Wd g AR 39
“STITA:” 3T UgEg fasticra: s1afa-

e

2. c

3.

Tt

4 2



TR 9fScar ueaEg Qgﬁagcd{ qaad -

qa: v qaea e 3aafa | 3 faeed 3Red Tegd | 3 e
el AREid | AR A Ueq: dnred fdefedn: sdfed |
oy give: Swrd | gdH 3iqd eoear gfeion: seRd Fdfed | oa:,
oI, AT FAAE: [aficd | gde: HAET FIuH G 3dy
f&a] garafa |

3cHT: BTET: Tl FATGATd UTeh Uq 3fcdsoied | d et Feal
Gradldel Safed | dGs] SAMATH Fedl Tl Fdled | dqeleck e LT
fehf>ere, STedTeATiceh Fdfed | Tddsleck o BHET: FUTS UdTed | TAE:
d T T FAO WMfed | FEdled FIET AAT: Javs: afd | faevd:
AHAFTS T STHEAT A | &l UleaT: JaTOT SR, 35 | FAE-
HAAT U HeATHTe: Hafd | dal Sidl: FERRAEAHAF: 6 fafadded
| UAERe] gAY faenfdier: hismy dHisfea | Far g2 srearae esfd
e T gehrer: FfeRael: oafd | der AR fF: safa | I wag
feermy 3egen: TRl | dar AATO], HIRIMOT, UG, Jallid o
3HeUHROT TBIGdla €2ded | dal ST E4ied |

2 werd e fEfar 3eafd -
Ied&qT
G IEToTEaT






TRt 9fdcar veaEg QAﬁagcdi gaad -

g v qEedr fefdr 3eafa | 3 fares 3iRed Tead | 3 fema:
FegdR ARRfS | AR AR deg: dRred faefear: s@fed |
gy giee: St | gAA 3fed evear gfaion #erd ddfed | oy,
oIeT:, AT gﬂ?ﬁﬁ: affea | gaa: SYATAT I-eH 3T 3ﬁﬁ§
fea] warafa |

3ccHT: BTET: T3l FAGATT UTeh TF 3fcdvolod | o ot Heal
Gradldel Fdied | dGs] SUMATH $edl Tl Fdiod | dgeteal 5 Tcdl
fenfoeIg, STefaTeTiceh Hafed | Udgelecd o BTAT: FIUIS Uoled | GIEH:
d & T FAMO Elfed | Feded FIET AA9: Javs: #afd | faavd:
FAFT J FEAT A | dal UleT: J&TOT SR, HA-ed | FAEd-
HAGT, 9T HEATHT: Hald | dal Sidl: FaHRRAEAAFY: I§ Tidfdaded
| vdfeRe gAY faenfda: Hisey fHisfea | gar g2 sredre Tesfd
e TET gehrer: FfeRaol: safd | der AR AfF: stafa | I wayg
feermy seUedR: TERid | dal AAT], HIRIOY, UG, dellied o
HETHROT TGN T2 | dal ofel: Taufed |

Td BHET: FAGAT IF UF Sicassied -

27) . .
A f@aY AIRAATEIARIY 37T
e | co
Aeasiafa -
TcIATeT:

1.
) ;'haEBUESI
2 %;I-:

3.



CHIAUSE

4.
Correct Answer :-

Yellhl GfScar srenfafdseed ey YA Faad -

o Foouneilel: ileoAT [HAeShaAEa: |
ATUSST: YeTellATsSTGANRTATHAT ||

IUISqaTe] Hdleed Sl S dcaidd |
gl asissTaTas: Yaed fagy: &7 |

1. e |
IOIT+TT
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voliehl afScar srfAfEsesy ey el AT -

of Foauneilel: TlleaA 12 [HAShAA: |
AUSST: AeTellAsSTGANRTATHAT ||

orsddicy Hdleed Sl SId dedfdd |
gl asissTacgs: YEed fagT: & |

TSI 31T &7 3787ac-

30) CANCELLED

JEChATAT: TeTTehlel: 3TTEd-
fep. g weaerdsa
1.

for. erwsseardesd
2.

_ . <1 TGRSR A

JRERIR: S CE T

Correct Answer :-

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyardt” (gfiu) Sitaf ¥ 3y wm qusrd 82
1. It does not need oxygen to survive. /Eﬁ Gﬁﬁ?ﬂ_{ﬁf & ﬁﬂl 3Tt &t Wﬁa?ﬁl



2. Tt is able to tolerate a wide range of altitude. / g & 's‘ B Th ﬁﬂﬁ mﬁ Wmf{ H&H Eﬂ?ﬂ %I
3. It is able to tolerate a wide range of PH value. / g PH HIH ﬁﬁ'&jﬁm EF;TFI%:{ HEH H&‘IT[?IHT %I

4. Tt is able to tolerate a wide range of ambient temperatures. / g gfka<h argaHt &t Udh Ira‘kjd mﬁ Wm ﬁg&lﬁ aﬂ%l

Correct Answer :-
« Itis able to tolerate a wide range of ambient temperatures. / g gfa=f argaHT &t Th ﬁ?qa H’@Wﬂ Eal qgd A H H&H E»PFEIT %I

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.
3. Denial of efficacy of rituals.
Frufifaa & 3 19 ds v ok S o St & fore @ ur?
1. TURIT 3R U B TRA A @ s
2. 35 & R & yfa Serfiar
3,38 B YUTEIHIRGT A FTFR
1.1 only / $ad 1
2.1and2/1Td2
3.2 only/ &I 2
4.1,2and3/1,2Td 3
Correct Answer :-

« 1,2and3/1,2Td3

3) The position if the sun, the earth, and the moon are in straight line is called: / '\Tf, T{@ 3N Tz i ieh Yar # ﬁe[ R fufa &t el SIldl %:

1. Cliff / fo

2. Conjunction / ?E[ﬁ

3. Seiche / STAGIE JUZT(

4. Syzygy / gfafagfd fig Rrersfor

Correct Answer :-

- Syzygy / gfafagfa feig )Reersfoi

4) The celebrated monarch known by the epithet “Devanamapiya Piyadaasi” was: /URig I9Te St UMY “¢a=d g fiaewi a4 o o 3:

1. Kanishka / s

2. Ashoka / 32T

3. Chandragupta Vikramaditya / &7 fasamica
4. Akbar / 3{haR

Correct Answer :-

« Ashoka / 3/2l&

5) Kanishka’s rule extended over Afghanistan and part of north India and he had established two capitals, One was

Purushapura. Which was the other? / B BT AT ABIMRAT 3T IR W%WWWWWWE’[WW
F R F1 R, R A v N wuRT I gad B @ e

1. Taxila / T&FRUaT

2. Mathura / HYXT

3. Pataliputra / UI?T“ﬁ'Eﬁ

4, Sakala / qbTdl



Correct Answer :-

« Mathura / HYXT

6) Under which dynasty, earliest inscriptional information on land grants is provided? / 6 Ioa=1 & 3iaifa, Yfr g™ W
| Y RAca TSR YeH $1 9Tl 82

1. The Mauryas / ot
2. The Satavahanas / HIddlg
3. The Sakas / R[h

4. The Guptas / &

Correct Answer :-
o The Satavahanas / HTddlg-

7) The Minimum Support Price was introduced in India in the year L gAdH Tudq Hed HRd oy o o=y faman
RIC IR TN

1. 1964
2.1984
3.1974
4.1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / STUR &1 Ueh 3o d Ada- T 4
1. Exports equals imports / fafd smard & ReR &

2. Exports must be greater than imports / frafa smara ¥ st g9 ElIiHY

3. Increase quotas / PleT EEIY

4. Imports must be greater than exports / frafa ot IR T T 31t g ATfey

Correct Answer :-

« Exports must be greater than imports / ﬁ?ﬁﬁ SATd ﬁ 3 EPI%THT%Q

9) aimed at providing credit or loan and other facilities to the small and marginal farmers, agricultural labourers, artisans and

small entrepreneurs in rural areas. / ma%mm:ﬁw aANABIR eﬁ'\r"\ﬂﬁmﬁ»‘aﬁ, Tﬁq\_ﬂ@, PRIRI 3R B ARl
BT AT BT IR 3= AT Y™ HAT 7

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / FgTeT et I amefior erTR TR sifafae (wvam)
2. Prime Minister Rural Development Fellows Scheme / TYTHA grHtor famT el AT

3. The Rural area Regulatory Board / Tt &7 e ae
4. The Regional Rural Banks / &= arior §

Correct Answer :-

» The Regional Rural Banks / &= ooy s

10) What type of stream pattern develops on a dome type area? / {5 UPR &7 uaE Yo 'ﬂﬂ?{ F UPR & &F § faefaa giar %?
1. Radial / 310 f&Tan)

2. Parallel / JHMIMR

3. Dendritic / gﬂm (G&TPR)
4. Trellis / ST



Correct Answer :-

. Radial / 3’17 }f&Tq)

11) In which river valley hominid fossil has been discovered in India? / HIRd o foya T'Eﬁ it & @ﬁlﬁ%’ ShareH &1 @ &t Tlé %?
1. None of these /Eﬁﬁaﬁéqﬁﬁ

2. Ganges / T

3. Indus / ﬁf"ﬂ

4. Narmada / THaT

Correct Answer :-

« Narmada / THeT

12) Who reviews the distribution of revenues between the State and Local Governments on the one hand and between rural and urban

Local Governments on the other?/W@TW@?WW%W@N@TW@TWWW%W
oI & IR &1 eiten 19 Har 32

1. District Finance Commission / foTaT fawt i
2. Union Finance Commission / &1 fad SR
3. State Finance Commission / XTod fad STAIRT

4. Zilla Parishad / foreft uRea

Correct Answer :-

« State Finance Commission / o0 faT SMTART

13) Who is the head of the Indian Republic? / HRT TG & Y& B 32
1. President / Trgcrﬁl

2. Prime Minister / T&THT

3. Parliament / 49G

4. Judiciary / =qTaAITaRT

Correct Answer :-

« President / YU

14) Who is the author of “Deschooling Society”? / gt WTW" * ﬁwaﬁqév
1. John Locke / S @l

2. Jacques Rousseau / S =1

3. Jean Piaget /ST ot

4. Ivan Illich / 39T Sferd

Correct Answer :-

« Ivan Illich / a1 3ferd

15) Who said that, “Non-alignment is more or less a residue of historical circumstances, we cannot align ourselves with the West, with its

colonialism, and there is no question of course of joining the Soviet bloc”. | e wat ﬁ?, “ﬂ?ﬁ?ﬁ&ﬂﬂ, GUERI Qﬁlﬂm uferRyfaat
W%%mmmu%,mmﬁwﬁﬁmmm%muﬁﬁsqﬁm, 3R Hifaad e A e e &1 HIS Tara §
T

1. Nehru /ﬁ’e!??
2. Krishna Menon / Wﬁ:ﬂ
3. Tito / f&2l



4. Nkrumah / <pHIg
Correct Answer :-

» Krishna Menon /Wﬁ:ﬂ

16) Who is the overall in charge of the efficient and fair conduct of elections in the concerned constituency? / Tt fRafes &hlﬁ

FATE! & HRIA R Froer T F T gur i 82
1. Polling officers / A BRI

2. Returning Officer / fafem (ﬁfﬁ‘m) SRR

3. Presiding officers / Horie SHfwRT

4. Visiting / 3D

Correct Answer :-

« Returning Officer / fafaa (efim) sifert

17) Who was known as “Hazar Dinari”? / "g%IIR ﬁ'"-l'l'a" & >q | aﬁq CIEEIGE K
1. Balban / dcfd—

2. Razia /Y D)

3. Mallik Kafur / Afcidh DIHY

4. Tltutmish / ST

Correct Answer :-

« Mallik Kafur / feidhs BTG

18) Finding the relation between “altitude” and “temperature” with the help of given examples happens in which approach? / %E RILE

ISTE0N Pt Hee | "FHurg" 3R "aqH" & S T ST Udr 1 39 SURTH A giar g: -
1. Concentric / GbTgd
2. Chronological / WWTJF

3. Inductive / AFTHATHD
4. Deductive / FAfATHD

Correct Answer :-

« Inductive / NTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the support of the majority in ./ e

FAGIRUN F 78 smawas e P yumrd Sl aguasrauds dgh
1. Rajya Sabha / IISTHHT

2. Parliament / §9¢

3. Lok Sabha / Q&M

4. Vidhan Sabha / fagT=gHT

Correct Answer :-

« Lok Sabha / AIBgHT

20) Receiving, responding, valuing, organizing and characterizing are the levels of which of the following domain? / UTGT ST, ufaferar

T, HIRG AT, AR HIAT 3R I HIA1 59 SHT & WK 8:-
1. Affective / HIATHD
2. Revised Taxonomy / TN ATt

3. Psychomotor / H: RS



4. Cognitive / GMTH®D

Correct Answer :-

« Affective / HIATHD

21) During the Mughal rule which of the following traders came to India first? / §ITel RITHA F aTF{ frafafaa & @ #1991 st
g HIRA AT UT?

1. English / 3{3Gft
2. Danish / é EEy

3. Dutch /9

4. Portuguese / ﬂ?‘f‘Tl?ﬁ
Correct Answer :-

« Portuguese / Q?ﬁTl?ﬁ

22) is a system of government in which the power is divided between a central authority and various constituent units of the

g;l;[try/ : PR P TP YUTTelt ¢ Forad I ) v S uitiewor 3R o2 3t Al uee soeal & &= favrfom
EIcikd

1. Decentralization / fdd 0T
2. Centralization / PEIBRT
3. Federalism / H9dlG

4. Democracy / ST

Correct Answer :-
« Federalism / §9dIG

23) is a process that involves the assembling, storage, transportation, packaging and distribution of different agrlcultural

commodities across the country./ TP vfshar % forad a'EIT W& fafi qrﬁr a?ﬁ\’rﬁ ® '\‘Rﬂ\_rﬁ m qﬁa%ﬂ'
faa=or =i g 1

1. Rural development / PICIACEDES]

2. Rural marketing / Tt faguE

3. Agricultural marketing / qﬁﬁ fagom

4. Agricultural networking / @ﬁ Feafd

Correct Answer :-

« Agricultural marketing / ?ﬁl fagoH

24) The Planning Commission was setupin . / TYSTT START B RITYAT - Tat 11€ Rif
1. 1960

2.1940

3.1950

4. 1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient Indian sites? / Frafafaa o 3 fea ur=i=

YR @l | Tataral & THTor $ WIS g3 82
1. Lothal / AlUd



2. Burzahom / W
3. Ropar / s

4. Kalibangan / PHIAE

Correct Answer :-

¢ Burzahom / m’q

26) The most prominent challenge faced by a social science teacher is: | ATHTSTS ﬁ?ﬂ? QT&‘W & gy I gy ﬁ?ﬂ 3.1':& %:
1. Inadequacy of text book and handbooks / UTed J¥ddh 3TR GReTepT37 Pt rqaftar

2. Inadequacy of in-service training programs / TaTeTe URTE0T HTRIGH! B STatdm

3. Lack of proper evaluation tools and techniques / Sfra Jicqidvﬂ SUB 3R AP-1eh] BT 3HTT

4. Insufficient time to attain long-term objectives i EaINCD 3%52?3] [ 1 Tifty o forg i Ty

Correct Answer :-

« Insufficient time to attain long-term objectives / EEEAINED 3%3?:] [ &1 Tt & forg e gy

27) The most suitable approach to promote interactive environment in social science class is: /mﬁﬁﬂ P FeTH WER

HaTeTeTd URA F ggTaT 37 ¥ g wod suga eR@or R
1. Frequent testing / A ateron

2. Showing documentation / GXATA GRIFAT

3. Lecture and explanation / IR 3ﬁT W

4. Cooperative learning / DRI |

Correct Answer :-

« Cooperative learning / 8PHR] SERTH

28) The method of inquiry-based learning which gives students time and support, they can pose original question and investigate through

their own methods is known as: / STII-STUTRT Wwaﬁu&%ﬁmaﬁwaﬁ?wﬁqmm%,ﬁw&wwwm
JUHHY WU & D] $ A1eAH | Sig B34 €, B! 9 & =0 A S1E71 o 8

1. Structured inquiry / Wi wirg

2. Conformation inquiry / oo St
3. Guided inquiry / e Rd Sifar

4. Open inquiry / @T"ﬁ Sde

Correct Answer :-

» Open inquiry / ﬁf“ﬁ Sdc

29) The Village and Small Scale Industries-Committee are also known as ./ 3R aga@hﬂ-wr&rﬁr Gl FETH
W S e

1. Desai Committee / ﬁvl's‘ Tfafa

2. Krishnan Committee / W gfifa
3. Karve Committee / T4 JrAfd

4. Rao Committee / X1d AT

Correct Answer :-

« Karve Committee / T4 Tfafd

30) The method that does not help to develop critical thinking skills among the students is: / 98 ffrsieEi s g naa‘qpf g
Fizre g #39 § Agg T8 Fedl 8, gl



1. Rote learning / ¥ fafer SiferTH

2. Project based learning / TRTSHT TR SHTUTH
3. Collaborative learning / W’@ITFIUT T

4. Self-regulated learning / w-fafafia siftrmg

Correct Answer :-

« Rote learning / $& fafd ffdrmy

31) The demerit of problem solving method is: / THHT R fafa ot GIH'JIUT_%I

1. Tt is purely individualistic in nature. / T8 Upld H fagg ¥ ¥ afdard! g1

2. It brings affective changes. / dg YhRIHD qﬁ?ﬁf:{ Adrdr %I

3. It does not help in easy assimilation of knowledge. / T8 T B S I THTTT B H Heg gl dral %I
4. Tt does not develop power for critical thinking. / g e R & forg erma fas a8 o %I

Correct Answer :-

« It is purely individualistic in nature. / g ;l?fﬁf o ﬁ"\ﬂ?ﬁ' Poysk] Hfdddrer % |

32) The Government can present demands in the middle of the financial year if it feels that more money is required than

estimated in the annual budget./wmﬁ%ﬂmﬁ ﬁm@m@mmaﬁ%ﬁ@m%%m
Tole ¥ UM 9 e ¥ #Y saaPar gl

1. Complementary / YIch

2. Need — based / HTTIHAT-SUTRT
3. Mid — term / TG

4. Supplementary demands / 3T Y

Correct Answer :-

« Supplementary demands / IR

33) Which one of the following is not the nature of social science? / ﬁ"ilﬁl'@?l’ -k Cac| ISR ﬁ?l'Fl' 31 'FITR'I T-Iﬁ%"
1. Study of man’s development through ages / qn‘r q HI™ & faem &1 3iegg

2. Study of human relationship / HIHd e BT 3regga

3. Unrealistic course of study / /T T 3T yrfard} areashH

4. A unique combination of various subjects / fafir faway &1 T 3T g

Correct Answer :-

« Unrealistic course of study / S{&IT HI SUTIATS! UTeaHH

34) Which one of the following is measured through CCE? / Fafafea d 3 &2 ;ﬂwﬁﬁ P qTAH N HIUT SATaT %?
1. Physical and motor development of students only / Fad S BT IRNG AR AFRIS-Taieh faswm|

2. Scholastic and co-scholastic achievement / ad Qe 3R Tg-Aféres Iuafes

3. Co-curricular achievement only / Had Ye-uiddshH Iud|

4. Gradients of scholastic achievement only / Fad Qe Iuares & 3dR-ded|

Correct Answer :-

« Scholastic and co-scholastic achievement / B m 3‘ﬁ? W-m Iuatsr

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the urban local bodies? | dfqem ot foa

T § Te Wi el g1 fag oI ATt 18 P4t @t et Fruifa 91 g 32



1. 12t/ 125
2. 9th /ot
3.10th / 106

4. 11th /116

Correct Answer :-
« 12t 129

36) Which is the most suitable philosophical approach that is capable of inculcating absolute values among students through the teaching

of social studies? / I PIT AT TG IUGT SIRIFH RFHI0T 2 St AreTfores sreaa=t & Rieor & areny S ot & &g wwgul geal ot
faeRa s A aem 82

1. Realistic approach / gyrfare efPdion

2. Idealistic approach / SfTeRiaTe = RdIo
3. Naturalistic approach / W m
4, Pragmatic approach / aTla?TR’E ?@W

Correct Answer :-

« Idealistic approach / 3TGR[d & e

37) Which is the Lightest layer of the earth? / q%aﬁ Ca KGR Eﬁﬂ wRd s It %?
1. Lower Mantle / Fad (YT )ﬁ?ﬁ

2. Upper Mantle / S [CICIES) Ted

3. Crust / Y U4t (Yuee)
4. Core / PIS

Correct Answer :-

« Crust/ 'J;Lqﬂé)[ (HUcq)

38) Which of the following methods is capable of enhancing psycho-motor abilities of students? / fFrafafaa % ¥ @9 @ fafy ot #

HA: IR &A1ST B qgT A W& 3

1. Simulated method / ?ﬁq fafy

2. Work experience method / Eav 3HT fafd
3. Lecture method / SIRSAT fafdy

4. Demonstration method / U&= fafd

Correct Answer :-

» Work experience method / FT SRGE fafy

39) Which of the following is not the educational objective in the teaching of social studies? / fFrafafeaa & ¥ #19 g s &

Rigror & e Iexa T8 32

1. Preservation of democracy as a value system / Hed JUITelt & ¥4 H dldhas BT A&

2. Creating and maintaining democratic citizenship / Aldife ARG BT A0 BT 3R I BT @1
3. Conquering the territorial jurisdiction of neighboring countries / U@I@ <=M & SR &7 W fasr ur &
4, Peaceful co-existence of people in this earth /sﬂqiﬁﬁ R AR WWW—H@IH

Correct Answer :-

» Conquering the territorial jurisdiction of neighboring countries / q@?ﬁ TN & HTABR & TR foory ured &



40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? / fFafafea 9 3 fea yeR ot qTﬁf Ca
YR H g Wt & A9 WY <7 ST 82

1. Primitive substance agriculture / affew Wﬁ@ﬁf

2. Extensive substance agriculture / STJdh Terf @ﬁf

3. Extensive commercial grain cultivation / SqTd I ST Bt [t
4. Mixed farming / IGIEGREGI

Correct Answer :-

« Primitive substance agriculture / affen Wﬁ?ﬁf

41) Which of the following dynasty was ruling in India, when Alexander invaded India? / Frafafea & ¥ 919 a1 Toa YR e
F IET AT, 919 Ryahae A HRA W 3menavT fsar?

1. Nanda dynasty / =& =T

2. Shunga dynasty / ‘{[’T ERl
3. Gupta dynasty / [t Rl

4, Mauryan dynasty /AR 9

Correct Answer :-

« Nanda dynasty / ¢ 9%

42) Which is recognised as one of the first environmental movements in the country? /fPa e H uga qgfavuiiy g d d w%
Y H AT T 82

1. Chipko Movement / o efigie

2. Kisan Movement / g 3figieH

3. Lok Satta Movement / A9 3igia

4. Narmada Bachao Aandolan / THcT S=IT3it SCAGE

Correct Answer :-

« Chipko Movement / fRIgeY 3figia

43) Which among the following is not a scoring tool to evaluate the quality of students? /BT aﬂgmaa‘r W mﬁ%ﬁm
FrafafEd & & o1 a1 I SusHur 18 82

1. Rubrics / {5

2. Observation / AdIHA

3. Checklist / AP IRE

4. Rating scale / Wa’qﬁ'[

Correct Answer :-

« Observation / 3BT

44) Which among the following is one of the first commercial banks established in India? / fFrafafea & 9 19 91 yRa § wifta vy
MRS doi § 4 va 82

1. State Bank of India / WRdIg ¥ S

2. Bank of Hindustan / §& 3T ]%w

3. Bank of India /% Gf\lﬁlﬁ 3%?11

4. Central Bank of India / @Tg'ﬂaib_ Wg@m

Correct Answer :-

« Bank of Hindustan / S 3{it %w



45) Which one is not a characteristic of summative evaluation? / ﬁ"}l’ -k} B ATHD E?-TIFI' 1 Th faivar qﬁ %?
1. It is done on a continuum /S@WW%’T WWWWW%I

2. Knowledge of results is not possible / gfvomay &1 IE HHT :ﬁf%l

3. It is used for promotion / STT SUTNT Hadl TR & ford e S g

4. It is having a judgmental attitude / g Th AHTcAIAATHD 39T YT %I

Correct Answer :-

« Knowledge of results is not possible / Uﬂ'lmﬁf CANIE] Jyd Q?T%I

46) How many Tirthankaras are in Jainism? / 91T & ® foraa difez A2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

47) Who were Manu, Narada and Brihaspati? / ], TR¢ \?fﬁT @Wﬁ' ﬁﬂ' ?
1. Mathematicians of ancient India. / T YR & Tlﬁ[?ﬁ‘ll

2. Jain scholars. / S fagm|

3. Gods of Vedic religion. / afee 4w & g

4. Law givers of ancient India /UTEﬁ:f YR P AP R|

Correct Answer :-

« Law givers of ancient India /EI'I'_cﬂzf HRI & AHFBR|

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as . [ TP ek | Hifss sﬂo‘lé' F
fafroa gea & sgger @) i it @ FET AR

1. Depreciation / g™

2. Revaluation / Eﬁ‘iﬂm

3. Re-evaluation / :- H@W
4. Devaluation / 3{dHedT

Correct Answer :-

« Devaluation / {qHIT

49) National Rural Health Mission in India was launched on . [ WRT ¥ gty arftor e fe o T 3=
™1 4TI

1. April 2010 / 31, 2010
2. April 2008 / 3f8id, 2008
3. April 2006 / 31, 2006
4. April 2005 / 35, 2005

Correct Answer :-

« April 2005 / 3, 2005



50) Which economic system shows both the characteristic features of capitalist and socialist system? / ®1=1 9t 3nffe worreft gehardt

3R FHTSTaTdt wurre @1 Y fafkrg fRwarst #Y qwid 82
1. Planned economic system / Faifera anffes yomedt

2. Command economic system / AR snffe vomeh

3. Market economic system / TSR 3fdfe gomeft

4. Mixed economic system / forfer smfdfes gomeh

Correct Answer :-

» Mixed economic system / fof3ra snffes vomeft

51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? / fFrafafea 7 9 o9 urdg ?Tg']'q P Pt
Afear sremas et o2

1. Kamala Devi Chattopadhyaya / HIGd! EEIBL2IR)

2. Aruna Asaf Ali / 31U 3w 3felt
3. Annie Besant /Q:ﬁ e
4. Sarojini Naidu / TRITTH AIg

Correct Answer :-

« Kamala Devi Chattopadhyaya / Wﬁ?ﬁaé i

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi (Chirag of Delhi)’? | Terzelt soawaT & fp

RIS gw! Td & “RRAT-u-dgad! (et &1 iRy & 911 & S1=7 omar ur?
1. Abu Ahmad Chisti / 3§ 380G FIdt

2. Shaikh Nasiruddin Mahmud / [ TToE Heda

3. Qutbuddin Bakhtiyar Kaki / WT‘T TRETAR FIDh1

4. Nizamuddin Auliya / ﬁ\_ﬂﬂ_iﬁ:[ Sfferar

Correct Answer :-

« Shaikh Nasiruddin Mahmud / %G TH1%&H HGHE

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / T I A AR 3R A A 3= T Y
7% foweht # wriafya frar

1. Balban / §¢fel
2. Muhammad Bin Tuglaq / GgWG foH giTeidh

3. Giyasuddin Tughlaq / FTITIEM el
4. Firoz Shah Tughlaq / fhRIST T8 UGED

Correct Answer :-

« Firoz Shah Tughlaq / s Mg UNES

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hfd T TP NS fHT ATaarg=T IS gRT HiAwT 412
1. Yajna sri satkarni / 931 ot gpuif

2. Vasisthaputra Pulumavi / aﬁw g@ﬁ

3. Hala / BTclT

4. Gautamiputra Satkani / WWUFF

Correct Answer :-

« Hala /@Il



55) International Network of Bamboo & Rattan (INBAR) is located at? / 19 3R AT BT GI?R'@'!T Acad (GH@WGTR') PRI W
fRag?

1. Colombo / SIdial

2. Guwahati / ‘:Fﬂ?l?ﬁ

3. Beijing / SIfSHT

4. Dhaka / GIPT

Correct Answer :-

« Beijing / SIfSHT

56) Which of the following strait separates USA & Russia? / fFrafafaa & ¥ @1 d Sawfy sAReT 3k T4 B /e Hed 82
1. Bering Strait / IR STty

2. Semiostrovskiy Reid / ﬁ&@a‘?ﬁ i)
3. Fram Strait / ToTH STqr& Y

4, M’Clure Strait / TH deyX ST

Correct Answer :-

« Bering Strait / ST STty

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on the environment by the indiscriminate

use of the pesticides. Who is the author of this book? /‘wgﬁ?:' @11', 1962 ﬁmwwwél Wﬁm%
SAYTYY ITANT | YGTaR0T IR S 9T ufaed YU & a1k # fora 8 1 39 [ & AW DI 82

1. Annie Dillard / Q:ﬁ fears
2. Virginia Arthur / goiffar ameiR

3. Kathryn Miles / FU A
4. Rachel Carson / I HIE

Correct Answer :-

« Rachel Carson / I BT

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? / Frafafea & 3 fea a7 Ra ET'?I'I%&‘T A=
S T[T 32

1. West Bengal / qf3y &a
2. Tripura / ﬁ'ﬂ?'l

3. Meghalaya / B3| S 3f

4, Nagaland / BIUINES

Correct Answer :-

« Tripura/ ﬁ'ERT

59) Anemometer is used to measure which of the following. / fafsfead A PR A & ﬁ'I'E," E‘ﬁ"ﬂ"ﬂa T IUANT fpar Srar % |
1. Wind Velocity / Ud-1 a7

2. Wind Direction / Ta @1 fe=1

3. Humidity / 3Gl

4. Air Pressure / dIg GId

Correct Answer :-

« Wind Velocity / 9& a7



60) Falkland Island is a disputed territory between? /W‘Iﬁ? ﬁ'q ﬁT\‘ﬁ? 9= Th ﬁmﬁa 33[ %‘.’
1. West Indies and Spain / aw\_ﬂ AR T

2. Uruguay and France /3T 3R W

3. Chile and Ecuador / foreft 3R 3@7@?

4. Argentina and UK / ST 3R uﬁ;

Correct Answer :-

+ Argentina and UK / SIS 3R @7



